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BEEEERE 0 0 0
FETE & EF BN 0 0 0
BRI 8,000,000 0 8,000,000
HESRZFTRE 8,000,000 8,000,000
ZmEFME 20,000,000 0 20,000,000
ZREFME 20,000,000 0 20,000,000
MR ZE 322,500 0 322,500
ZEFE 0 0 0
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BER 28,322,500 0 28,322,500
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& B R 120,000 0 120,000
Hw5FH 300,000 0 300,000
BFELEE 0 0 0
=ik 0 0 0
RERBE 100,000 0 100,000
BIEH 0 0 0
HRERE 0 0 0
EiEE 0 0 0
Efaw 0 0 0
FRI S A 100,000 0 100,000
FEHE 200,000 0 200,000
RN 600,000 0 600,000
ZHFHH 0 0 0
HE 0 0 0
EHE 23,902,000 0 23,902,000
& B 0 0 0
Hw5FH 3,100,000 0 3,100,000
BRHELEE 0 0 0
SEE 0 0 0
REXEBE 0 0 0
BIEE 1,030,000 0 1,030,000
HERE 0 0 0
R 242,000 0 242,000
BEfEH 17,713,000 0 17,713,000
KESHE 960,000 0 960,000
EitE 30,000 0 30,000
AT LERR 507,000 0 507,000
HLEREN 320,000 0 320,000
HE 0 0 0
BNEA 25,322,000 0 25,322,000
STmE A AR AT S R R R AR 3,000,500 0 3,000,500
AR E MBS S 0 0 0
HEREFMIREE 0 0 0
RAAMESFTMED S 0 0 0
AR F 5t 0 0 0
L RIREAE 3,000,500 0 3,000,500
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